About the Game 

本模擬假設啤酒供應鍊有四種廠商參與處理工作。 The beer supply chain simulation assumed that four manufacturers involved in the work. 有一家生產工廠(Factory)、有一家配銷商(Distributor)、有一家大盤商(Wholesaler)及一家零售商(Retailer)。 There is a production plant (Factory), there is a distribution business (Distributor), there is a Wholesaler and a retailer.即整個供應鍊上的四個角色均只有一家廠商，雖和實際世界同一供應鍊有多個相同角色的廠商有所差異，但己能夠充分表現所欲討論的議題。 That the entire supply chain of the four roles are only one manufacturer, and although the actual supply chain in the world in the same role in a number of different vendors are different, but others want to take full performance of the discussion. 

供應鍊示意圖 Supply chain diagram 
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供應鍊的屬性(Attributes)顯示的資料為該周的結算結果。 Supply chain attributes (Attributes) data show that for the week of the results of the settlement. 

· 庫存量=上周庫存量+ 廠商到貨量- 客戶需求量若手上的現貨（上周庫存量+本周到貨量）小於客戶需求量時，庫存量為負值表示缺貨。 Inventory = inventory + manufacturers last week to the volume - customer demand if the cash on hand (inventories last week, this week to + volume) is less than customer demand, inventory shortages that is negative. 

若本周無法滿足客戶需求量，客戶需求量順延至下周（即客戶的訂單或你對供應商的訂單是無法取消的）。 If this week to meet customer demand, customer demand to be delayed for next week (that is, customer orders, or your provider's orders can not be canceled). 

· 市場銷售量=本周消費者至「零售商」欲購買的數量(非實際賣出的數量)。 = Market sales to consumers this week, "retailers" to purchase the number (the number of non-real sold). 

· 下游總庫存量=本周下游的庫存總和，如你為「配銷商」，則該欄的值為「大盤商」+「零售商」的庫存量。 The lower reaches of the total inventory = sum of the inventory of the lower reaches of the week, if you as a "distribution", the column of the value of "large" + "retailers" of stock. 

· 客戶需求量=為下游的訂購量(經訂貨周期延遲)。 = Customer demand for the lower reaches of the volume of orders (by the order cycle delay). 

· 訂貨周期= 為上游回應訂單的時間（以周為單位），可細分為訂單處理延遲及送貨延遲。 = Order cycle for the upper reaches of the response to the orders of the time (in weeks as a unit) can be broken down into order processing delays and delays in delivery. 

· 市場預測值=隨機由【系統的市場需求預設值* 預測的準度】所構成區間取得。 Market forecast by random = 【system default * market demand forecast accuracy】 posed by access to the range. 
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每周的活動在供應鍊上的每一個角色每周均需依照上游的供貨情況、現有的庫存、下游的訂貨需求、及供應鍊的環境因素等，計算對上游的採購量。 A week of activities in the supply chain every week to be in accordance with the role of the upper reaches of the supply, the existing inventory, ordering the lower reaches of the demand and supply chain, and other environmental factors, calculated on the upper reaches of the procurement volume. 

· 接受上游的「廠商進貨量」。 To accept the upper reaches of the "purchase volume manufacturers." 

· 處理庫存並計算手上的現貨量。 Stock on hand to deal with and calculate the amount of cash. 

· 處理客戶(下游)的訂單(「客戶需求量」)並出貨給客戶。 To deal with customer (downstream) of the Order ( "customer demand") and shipped to the customer. 

· 綜合目前的資料，決定你本周的訂購量。 At present, comprehensive information, you decided this week to order the volume. 整個處理只要輸入「訂購量」。 The whole deal as long as the importation of "quantity ordered." 

· 註：起始值是依每個角色的環境設定及系統值設定。 Note: The start value is in accordance with the role of each of the environmental settings and set the value of the system. 
